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SX &M 1,072,958 923,509 149,449
= 191,360
< 38,272
s 843,326
I =MEEH 976,458 829,629 146,829
= 137,440
< 27,488
[ia 811,530
MNASEE A2 (A2 20II=EE3H) 976,458 829,629 146,829
= 137,440
< 27,488
[ia 811,530
2SHAFXE 10,000 15,000 A5,000
= 8,000
= 1,600
[ia 400
201 et 3,000 5,000 A 2,000
= 2,400
< 480
[ia 120
01 At 22l 3,000 5,000 A 2,000
Odz2 =AY &3H XA 3,000,000 3,000
= 2,400
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202 O4dl 7,000 10,000 A 3,000
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= 1,120
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< 25,888
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= 25,872
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2AH: SRS
HE: HY2IFU(SNUEHD)
thel: JE2IH(SEXNZFHY)(A==0HIISSESAH) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
oz 2yl (KHAl) 29,100 28,160 940
101 @14 Hl 29,100 28,160 940
03 RIHAZZ2HE =+ 29,100 28,160 940
Odz2s0 ZelA =& 29,100
— YFEIH)
1,500,000& » 60% » 2% * 23| 3,600
— 2543 470,000& = 123 5,640
— ZHZ A 130,000& = 29 = 123 3,120
— &0z 1,500,000 * 2% * 43| 12,000
—wNEEXS 50,000& = 2% = 123/ 1,200
- 5= 120,000& » 198 « 123 1,440
— QX 28 70,0003 » 2H  15¢ 2,100
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EXN: A4
o FOIEOIX AN
e EMAFHIGNN (LHAEHSH)N(LEHAFTHRAXNIAANSEES H) (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
24 1 982,259 732,154 250, 105
Dl 479,000
= 503,259
ESR] Rty e ipliE=" 982,259 732,154 250, 105
J| 479,000
= 503,259
SHAFHI AN A (LHASHS N ) (LHAFTHIAX 982,259 732,154 250,105
AAIAELEZAH)
J| 479,000
= 503,259
ASAYSHSNA(LHASHE A) 200,000 200,000 0
501 X3 200,000 200,000 0
01 §IABR2 200,000 200,000 0
OLSAMY SA2XNE 200,000,000 200,000
HELEAUMATRFAIG (LEAEHSZAH) 219,000 246,000 A 27,000
J| 219,000
401 Al HI L 2 THHI 219,000 246,000 A 27,000
J| 219,000
01 Al&EH| 219,000 246,000 A 27,000
OFEL+dLYNMAMRJAIL 219,000
— g &g FOUEHGALE BE2LAIE
35,000,000 35,000
Dl 35,000
— 20U 2R3 AFE L2 A 35,000,000 35,000
J| 35,000
— 3212 MAUIx==2 ZH Z2AH 20,000,000 20,000
J| 20,000
— 12 oI==2ss&E4 A 25,000,000 25,000
J| 25,000
— HEB4e| T2 L EZ2A 35,000,000 35,000
Jl 35,000
— S g 0sSeF UR4AD] 33,000,000 33,000
J| 33,000
— UM A FHISE J2X AL
36,000,000 36,000
J| 36,000
HEALSUMATAAND (LEHAEHSAH) 82,000 25,000 57,000
J| 82,000
401 AlEHIZL 2 0HY| 82,000 25,000 57,000
J| 82,000
01 Al&H| 82,000 25,000 57,000
OFBEAXUNMARS AL 82,000
— EX&e SEZ HAEZHI ZAH 20,000,000 20,000
J| 20,000




A A&
M Z=oim oK oy
G dHAFHIT AN (LEASEHSH)N(LEAFTHIIAXNIANSELSA) (&2 &)
SA - BB B (BA) - MEAY - BYS ofl &k o San HDE2
—HEYLLNL ZOAS JSA AN
62,000,000 62,000
Dl 62,000
dHAFHIYG ASSU 28,000 0 28,000
J| 28,000
402 SI2FXFE0| M 28,000 0 28,000
Dl 28,000
02 BIZEXIEAMNYEX(0IETHH) 28,000 0 28,000
Os¥s )2 2 28,000,000 28,000
Dl 28,000
SHAFTHI S S3AMISK 150,000 80,000 70,000
Jl 150,000
402 QI2F X2 0| & 150,000 80,000 70,000
Jl 150,000
02 DIZFXIE2AIE E X (0IETHE ) 150,000 80,000 70,000
Oolslel DISsss&HYE ZHAMY
100,000,000 100,000
Dl 100,000
O=&c2 UI2sXAE B8 50,000,000 50,000
Il 50,000
0dl B1 81 303,259 70,554 232,705
801 Ol bl bl 303,259 70,554 232,705
01 etalbl Yl 303,259 70,554 232,705
(@) Ks]is] 303,259,000 303,259
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20198 & =20 A JIEIE Y3 H &EX
2M: 33
HE: +MEY 2H
Sl SENL(SEHLSHIH) CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
A 12,659,294 16,782, 181 N4, 122,887
Dl 12,079,978
= 579,316
>Esd 24 4,689,961 7,928,645 N 3,238,684
J| 4,132,930
= 557,031
FEIPMH(FEINLEELESIAH) 978,500 1,879,600 A 901,100
J| 689,000
= 289,500
HEMHEO XA 700,000 1,667,000 A 967,000
J| 420,000
= 280,000
405 KHoHFE S HI 700,000 0 700,000
J| 420,000
= 280,000
01 XA E B F S| 700,000 0 700,000
OFEAHA=Y AlAEH = 700,000,000 700,000
J| 420,000
= 280,000
=EQHAEZTH 22| 207,000 135,100 71,900
J| 207,000
207 A SO0 | 207,000 135,100 71,900
J| 207,000
01 | 207,000 135,100 71,900
OxZAESHE oI < 57,000,000 57,000
J| 57,000
Ox2gsaae AUdANE & =22LHY
=29 5,000,000 75,000
J| 75,000
OxZIdSSAANHEHE =8 A
75,000,000 75,000
J| 75,000
HIZQEMZAIE el 31,500 30,000 1,500
J| 22,000
= 9,500
101 Q24| 13,000 11,534 1,466
J| 9,100
= 3,900
04 JI2ZtHIZ22NEE S 13,000 11,534 1,466
OHIELLE M AIE 22l 13,000
—olgel 68,571 » 18 x 252 « 7€ 12,000
J| 8,400
= 3,600
—BE2(08 - &) 1,000,000 1,000
Dl 700
= 300
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M HEE BH
Sel Ep A (SEHESH ) (S &2)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
201 Le-2d| 10,500 10,466 34
| 7,300
s 3,200
02 8322l 10,500 10,466 34
O3323 % HMA 4,240,000 4,240
| 2,948
s 1,292
OA& ZEHl R Xl 6,260,000 6,260
| 4,352
i 1,908
207 Ao 2| 8,000 8,000 0
| 5,600
= 2,400
01 A2 ESHI 8,000 8,000 0
Ox=Z2LHEY E9 8,000,000 8,000
| 5,600
s 2,400
g 222 2etxel H8Xd(02) 40,000 47,500 AT7,500
| 40,000
401 Al B2 28I 40,000 47,500 AT,500
| 40,000
01 A& HI 40,000 47,500 AT,500
OHERER=E 28X HI& 40,000,000 40,000
J| 40,000
AxA2XNE XNIAMNS(=ENLSSEESH) 3,711,461 6,049,045 A2,337,584
| 3,443,930
[ia 267,531
FUXAANSE XA (0I3) 2,708,930 3,623,592 A914,662
| 2,708,930
307 QI2+0I & 418,178 434,806 A 16,628
| 418,178
02 QB AAHEX 418,178 434,806 A 16,628
OF=2UX & A 418,178
— AT XA 315,000,000 315,000
| 315,000
— 2t X2 AL 103,178,000 103,178
| 103,178
401 Al& I 2 O8I 721,664 977,137 A 255,473
J| 721,664
01 A& HI 721,664 977,137 AN 255,473
OF2UX &AL 721,664,000 721,664
| 721,664
402 QIZHRHE 0l A 1,459,088 1,821,649 362,561
Il 1,459,088




S 23HD
B gy 23
Sel MARBRANY NBAL(SBHLASLEH) (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
02 DIZFXI2AIE EX(0IETHE ) 1,459,088 1,821,649 N 362,561
OFUX A 1,459,088,000 1,459,088
J| 1,459,088
405 XtabF SHI 110,000 330,000 N 220,000
Dl 110,000
01 AL 2 S F SHI 110,000 330,000 N 220,000
Oa2H(KNHESA) 2] 380 0
OSA2 §H HsZEHI 2 110,000,000 110,000
Dl 110,000
FOIXAAMS X (RAND 82,948 88,305 N5, 357
101 @121l 13,248 11,105 2,143
04 JI2ZtH 22 XNEE 13,248 11,105 2,143
OFUXNSIAAMNG JIEZXNZTEA 2L 13,248
— o 71,864 x 3 * 282 » 2& 12,074
—B8= 12,074,000 * 9.72% 1,174
201 LEt2 Y| 5,000 15,000 A 10,000
02 332494l 5,000 15,000 A 10,000
OZ2Z222Y A 5,000
— FOXSAY 23 2222(HII2 )
5,000,000 5,000
202 (4] 7,200 7,200 0
01 2L Y] 7,200 7,200 0
OFURNIANL IZN2EAH(Z)
20,000 » 3% = 10 * 12& 7,200
303 A2 2,500 0 2,500
01 2o 2 2,500 0 2,500
OFUXNAIS EIF T A2 2,500
— %2 1,500,000 *» 1§ - ™ 1,500
P 1,000,000 * 1§ - H 1,000
401 A& H L 2T 55,000 55,000 0
01 A& HI 50,000 50,000 0
OF0XSAH 50,000,000 50,000
03 Al& 201 1] 5,000 5,000 0
OF0 XA 5,000,000 5,000
ol 5l gl 184,583 769, 148 N\ 584,565
801 0l 5l Bl 184,583 769, 148 A 584,565
01 Btail bl gl 184,583 769, 148 N 584,565
O oyl bl 184,583,000 184,583
2FOXNSAMAXNR(I12) 735,000 1,568,000 A\ 833,000
Jl 735,000
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402 BI2FX=01 M 735,000 1,568,000 A 833,000
J| 735,000

02 P2 THE2ALEZ(0IETHE) 735,000 1,568,000 A 833,000
Ok=a=22 FHIAY 735,000
J| 735,000

QZHl(g& D) 49,993 43,556 6,437
J| 27,708
i 22,285

e (BAD) (FEHLEL S 49,993 43,556 6,437
J| 27,708
e 22,285

XA EIL 2 DB 49,993 43,556 6,437
J| 27,708
i 22,285

101 124 dl 42,403 35,966 6,437
J| 20,118
i 22,285

03 I AHA22RHE* 42,403 35,966 6,437
il 38,548
—JlE2s 18,889
J| 18,889
— 23 3,967
J| 1,229
s 2,738
— dA=Al 1,560
— s 2 X 600
—JlZ=g 6,297
— ZE S| 1,889
— A2 2R 3,588
—JIEE 960
—Hxs= 66,467 * 1& 798
OEEZ 38,548,000 * 10% 3,855

201 24l 1,180 1,180 0
J| 1,180

02 =224l 1,180 1,180 0
O333BLAA 1,180
—FUXIAMNY 2 QEBLESR 1,180
J| 1,180

202 Oddl 6,410 6,410 0
Jl| 6,410

01 SLHOYI 6,410 6,410 0

OFQUXAANE JI=X

2,580
J| 2,580
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B #N2ARY (BF D)
el QlHE2HH (B2 ) (=EMHESEIIH) (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
SENENEFENEEICEED
3,830,000 3,830
| 3,830
HRas(s2d) 7,919,340 8,809,980 A 890,640
J| 7,919,340
WEAHAXE(2ZW)(=ZEHESESH) 7,919,340 8,809,980 A 890,640
J| 7,919,340
HEHAXE (=N SESIA) 7,919,340 8,809,980 A 890,640
J| 7,919,340
701 JIEtSIHENMNES 7,175,681 8,709,980 A 1,534,299
| 7,175,681
02 SI)LEEIHIBMEEZ 4,748,170 4,501,185 246,985
OB+ TAHSHSNHES(BYINZANL 29
) 4,748,170
—33ot=HMelAE 24 3,788,253,000 3,788,253
| 3,788,253
~ 472 2REEHANL 29
212,871,000 212,871
| 212,871
— 2L X2Ad 2Y 747,046,000 747,046
J| 747,046
03 BILESEIAMN2HEZ 2,427,511 4,208,795 A1,781,284
Oot=T A SEES AN EZ(BAI AL
AXIA) 1,939,000
—E2dES3ot=HMal AL 47,000,000 47,000
| 47,000
—SrAAZ33%tHel A& 327,000,000 327,000
J| 327,000
— =20, 49 &2 649,000, 000 649,000
| 649,000
— ST TAE(SEUel . u=al)
551,000, 000 551,000
| 551,000
- gz 222 185,000, 000 185,000
| 185,000
— 49, HE o222 79,000, 000 79,000
| 79,000
—8el83sta=HMelANE SE(1X)
79,000,000 79,000
| 79,000
—M4RBBotHMeANE SHE(1X)
22,000,000 22,000
| 22,000
Ot AL SEIHN2REES (BEIEZAL
He) 488,511
— 338t=HelAld UsH 63,261,000 63,261
| 63,261
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P B =R Y

44,550,000 44,550
| 44,550
— 2L XA o 380,700,000 380,700
| 380,700

702 )I3HEES 743,659 100,000 643,659
| 743,659

01 JI38&E= 743,659 100,000 643,659
OF2XNJAMNY Hsdlz HE 743,659,000 743,659
| 743,659
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2M: SAD
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Cel: EIXINE(SLEMLASEL3IH)

SA-HB .Y (BH) - MRAY - B 0 4t o4 il
T Al 29,000 329,000
S AR & 29,000 329,000
EHXIONE (B HINLAIE S LS A ) 29,000 29,000
0dl 81 8l 29,000 29,000
801 0flHl bl 29,000 29,000
01 &etalbl bl 29,000 29,000

Oulyl gl 29,000,000 29,000




N = 0l & At & M A

20199 = 20l DIEFSESA &

2AMd: DS
M DsEd e
EHel: =UAES &5 2 22 (FANESLEEAH) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
oS 361,079 296,097 64,982
nsEd e 361,079 0 361,079
ZALES 25 L B (ZUNESEH) 361,079 0 361,079
FXHE 2 FFI 2e 361,079 0 361,079
101 @14 dl 90,368 0 90,368
4 D12t ZE2XREES 90,368 0 90,368
FEXES 77,769
— oIy 71,8603 * 3% » 245¢ 52,818
—F5d 71,8603 = 3H » 57¢ 12,289
—MEAZBESYH 1,682,000& * 3H 5,046
—4E2E= 70,153,000& * 10% 7,016
— I =l 100,000& = 3H =« 23| 600
Oovsdea nszel 12,599
— Q24 H| 71,8603 = 16H = 103l 11,498
—MEAZBESY 5,600& *16% 103l 896
—BEHZ(LE, &) 12,394,000& * 1.65% 205
201 Lt 2| 197,991 0 197,991
01 At 22/l 107,791 0 107,791
Oget=gH| 7,500
— T3 MRES 2,000,000& 2,000
—FEN HEES 2,000,000& 2,000
—FEX HEEX M 2,000,000& 2,000
—MEHE DX HESE S MH
1,500,000 1,500
Oul=l 1,000
— =X ©= 100,000& » 5% * 23| 1,000
O= &l 5,000
—FEXN S AL 5,000,000& 5,000
Oogxz 94,291
—FEX ©HE HUX S
60,0003 = 453| 2,700
—EX g (5YFTE) 91,591,000& 91,591
02 2324l 90,200 0 90,200
Oz&22= & HAl 42,000
— FIXNNHE DX SELSS
21,000,000 21,000
— CCTV AHANEE
10,500, 000& 10,500
— CCTV HIIRS
10,500, 000& 10,500
OAld 48,200
—u (del) sX2el 6,500,000 6,500
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M DsEd e
tel: =XUALEE &5 2 22 (=UHESLEIA) (&)
— SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
— DFA CCTV RAE=S 27,500,000& 27,500
—EEXE CCTV SN E 9,200,000& 9,200
— It A M2ACIANAE SN2 Y
5,000,000& 5,000
202 014l 4,320 0 4,320
01 2401 Hl 4,320 0 4,320
OFIA =28 SF0
180,000& = 2% * 12& 4,320
401 AIEHIZ 28I 65,000 0 65,000
01 A& Bl 65,000 0 65,000
OFEXSXA SHHE HMZ 500,0008 * 200 £ 10,000
OZ3g=xE 722 15,000, 000& 15,000
O3YF=XE 24 (2MA)
20,000,000& * 204 40,000
801 GilHI8l 3,400 0 3,400
01 LEroildl bl 3,400 0 3,400
Ououldl sl 3,400,000 3,400




